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QUESTION 1

Which of the following statements allows BOB to revoke access to the SAMPLE database from user TOM?
A. REVOKE ACCESS ON DATABASE FROM USER bob

B. REVOKE CONNECT ON DATABASE FROM USER tom

C. REVOKE tom FROM ACCESS ON DATABASE BY USER bob

D. REVOKE tom FROM CONNECT ON DATABASE BY USER bob

Correct Answer: B

QUESTION 2

Which of the following is the best statement to use to create a user-defined data type that can be used to store currency
values?

A. CREATE DISTINCT TYPE currency ASNUMERIC(7,2)
B. CREATE DISTINCT TYPE currency AS SMALLINT

C. CREATE DISTINCT TYPE currency AS BIGINT

D. CREATE DISTINCT TYPE currency AS DOUBLE

Correct Answer: A

QUESTION 3
What is the purpose of the Design Advisor?
A. To analyze workloads and make recommendations for indexes and MQTs

B. To present a graphical representation of a data access plan and recommend design changes that will improve
performance

C. To replicate data between a DB2 database and another relational database
D. To configure clients so they can access databases stored on remote servers

Correct Answer: A

QUESTION 4
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Two applications have created a deadlock cycle in the locking subsystem. If lock timeout is set to 30 and both
applications were started at the same time, what action will the deadlock detector take when it "wakes up" and discovers
the deadlock?

A. It will randomly pick an application and rollback its current transaction

B. Itwill rollback the current transactions of both applications

C. It will wait 30 seconds, then rollback the current transactions of both applications if the deadlock has not been
resolved

D. It will go back to sleep for 30 seconds, then if the deadlock still exists, it will randomly pick an application and rollback
its current transaction

Correct Answer: A

QUESTION 5

A sequence was created with the DDL statement shown below: CREATE SEQUENCE my_seq START WITH 5
INCREMENT BY 5 CACHE 5

Userl successfully executes the following statements in Connectionl: VALUES NEXT VALUE FOR my_seq INTO
:conlhvar VALUES NEXT VALUE FOR my_seq INTO :conlhvar User2 successfully executes the following statement in
Connection2: VALUES NEXT VALUE FOR my_seq INTO :con2hvar

After Userl and User2 are finished, User3 executes the following statement in Connection3:

SELECT NEXT VALUE FOR my_seq FROM sysibm.sysdummy1

Which value will be returned by the query?

A.20

B. 25

C.50

D. 55

Correct Answer: D
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